
WARNING: This Radiator Cap is for decorative use only, and is not 
designed to hold cooling system pressure!

Step 1:  Remove the #8-32 x 1/8" set screw using a 5/64" Allen 
wrench. Apply blue thread locking compound to the threads 
on the set screw, and reinstall the set screw. Make sure the 
set screw is far enough out that it will not interfere with the 
inside threads on the Radiator Cap.

Step 2:  Carefully thread the Radiator Cap onto the stanchion on top 
of the radiator until it bottoms out. Then, back it off until the 
wings on the Radiator Cap are parallel with the radiator and 
the set screw is towards the rear of the vehicle. Make sure 
that the hood will open without contacting either of the wings, 
and adjust as necessary.

Step 3: Once the Radiator Cap is positioned correctly, use the 5/64" 
Allen wrench to snug down the set screw. Be careful to not 
overtighten the set screw.

WARNING: This Radiator Cap is for decorative use only, and is not 
designed to hold cooling system pressure!

Step 1:  Remove the #8-32 x 1/8" set screw using a 5/64" Allen 
wrench. Apply blue thread locking compound to the threads 
on the set screw, and reinstall the set screw. Make sure the 
set screw is far enough out that it will not interfere with the 
inside threads on the Radiator Cap.

Step 2:  Carefully thread the Radiator Cap onto the stanchion on top 
of the radiator until it bottoms out. Then, back it off until the 
wings on the Radiator Cap are parallel with the radiator and 
the set screw is towards the rear of the vehicle. Make sure 
that the hood will open without contacting either of the wings, 
and adjust as necessary.

Step 3: Once the Radiator Cap is positioned correctly, use the 5/64" 
Allen wrench to snug down the set screw. Be careful to not 
overtighten the set screw.

WARNING: This Radiator Cap is for decorative use only, and is not 
designed to hold cooling system pressure!

Step 1:  Remove the #8-32 x 1/8" set screw using a 5/64" Allen 
wrench. Apply blue thread locking compound to the threads 
on the set screw, and reinstall the set screw. Make sure the 
set screw is far enough out that it will not interfere with the 
inside threads on the Radiator Cap.

Step 2:  Carefully thread the Radiator Cap onto the stanchion on top 
of the radiator until it bottoms out. Then, back it off until the 
wings on the Radiator Cap are parallel with the radiator and 
the set screw is towards the rear of the vehicle. Make sure 
that the hood will open without contacting either of the wings, 
and adjust as necessary.

Step 3: Once the Radiator Cap is positioned correctly, use the 5/64" 
Allen wrench to snug down the set screw. Be careful to not 
overtighten the set screw.

Model A Decorative Radiator Cap 
Installation Instructions

Model A Decorative Radiator Cap 
Installation Instructions

Model A Decorative Radiator Cap 
Installation Instructions

INS0198  07/03/2019 INS0198  07/03/2019 INS0198  07/03/2019© 2019 Lokar, Inc. © 2019 Lokar, Inc. © 2019 Lokar, Inc.

General Installation Notes:
Please read these instructions completely before beginning the 
installation. If you have any questions please call.

Before beginning the installation, disconnect the negative battery 
cable and use wheel chocks to block the vehicle's wheels.

General Installation Notes:
Please read these instructions completely before beginning the 
installation. If you have any questions please call.

Before beginning the installation, disconnect the negative battery 
cable and use wheel chocks to block the vehicle's wheels.

General Installation Notes:
Please read these instructions completely before beginning the 
installation. If you have any questions please call.

Before beginning the installation, disconnect the negative battery 
cable and use wheel chocks to block the vehicle's wheels.

Building American Quality…
With A Lifetime Warranty!

Building American Quality…
With A Lifetime Warranty!

Building American Quality…
With A Lifetime Warranty!

TOLL FREE 1-877-469-7440 • tech@lokar.com • www.lokar.com TOLL FREE 1-877-469-7440 • tech@lokar.com • www.lokar.com TOLL FREE 1-877-469-7440 • tech@lokar.com • www.lokar.com

Radiator 
Cap

Radiator 
Cap

Radiator 
Cap

#8-32 x 1/8" Set Screw #8-32 x 1/8" Set Screw #8-32 x 1/8" Set Screw

® ® ®


